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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - |1 « EXAMINATION - WINTER 2013

Subject Code: 3300009 Date: 20/12/2013
Subject Name: APPLIED CHEMISTRY (Group 1)
Time: 10.30 TO 01.00 Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten.

Enlist different types of chemical bonds.

Define pH. Calculate pH of 0.01 M Hydronium ion solution.
What is metal cladding?

Discuss pH of acids, bases and neutral solutions.
What is caustic embrittlement?

Enlist the raw materials for producing glass.
Distinguish between paint and varnish.

Define addition polymerization.

Enlist the constituents of paints.

Give chemical formula of natural rubber.

Boo~NwouprwneR

Write a short note on ionic bond and draw structure of NaCl.
OR

(@) Give properties of metals and explain atomic arrangement in FCC.
(b) Explain anodic and cathodic method for metal protection.

OR
(b) Explain the mechanism of atmospheric corrosion.
(c) Discuss the factors affecting rate of corrosion.

OR
(c) Explain Pitting and crevice corrosion.
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(d) Explain the permutit process of treating hard water.
OR
(d) Write a note on reverse 0Smosis.
Q.3 (a) Give classification of glass.
OR

(@) Discuss properties of refractories.

(b) Give classification of polymer on basis of molecular structure.
OR

(b) Give properties and uses of neoprene rubber.

(c) Define Refractories and give its characterstics.
OR

(c) Write a short note on manufacturing of glass.

(d) Discuss ion-exchange process for softening water.
OR
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Following salts were found in a water sample. 04
CaCl, =11.1 ppm, MgCl, = 4.75 ppm,

Ca(HCOs3), = 8.1 ppm, Mg(HCO3), = 73 ppm

Find out temporary hardness, permanent hardness and total hardness of water
sample,

Give properties and uses of glass wool and thermocole. 03
Give the types of varnish and enlist theO ;aracteristics of a good varnish. 03
Write a note on vulcanization of rubber. 04
Define Adhesive and give its charactegslfics. 04
Define Catalyst. State types of catalyst and give characteristics of catalyst. 07
Discuss factors affecting degree of lonisation. 04
Give chemical configuration of Portland cement and explain its manufacturing. 04
Give characteristics of good Paint. 03
Distinguish between thermoplastic and thermosetting polymers. 03
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